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Jor the questions

. Answer the following questions (any ten) :

1¥10=10
oy eppTe Ty B (R e wei)

(a) What is aggregate supply?
e carne wew 0

(b) Write the meaning of effective demand.
wfew g =/ o |
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(2)

() Who first coined the term ‘liquidity
preference’? '

*ore- A mh e v fifgs o

(d) What does LM curve denote?

LM 3% B 3am 2 ;

(e) Define multiplier.
s e fan

() What is marginal propensity to
consume?

A Torsrs sfasre 0

fg) Write the meaning of transfer payments.
B 2 31 AR =5y foren

fh) What is creeping inflation?’
§a o qurdfe a0
(i) What is Phillips curve?
faforoe a2
() Write the meaning of demonetization.

P wief foran |

(k) What is meant by full employment?
o o =aw I B qem 2
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(3)

{) Write the meaning of balance of trade.
Fifrers weE =y ey

{m) Define exchange rate.
fafora 2 s o o

fn) What is effective exchange rate?
oy R o 30
fo) Forexis .
( Fill in the blank )
Forex 9l _____ |
( =18 5% o3 w1 )

+ Answer any five of the following questions :

2x5=10
T PR f A Svvm Bea fr
(a) Distinguish between long-run period
and short-run period.
o™ @ Z5eme TwS e oryea |

fb) What are the factors determining
aggregate demand?

e sifEwa sl Tommgaa 2 50

fe) Distinguish between inflation and
deflation.

TErFTE w weifde wEe e Fdfy 3
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(d)

(e)

(4)

What is meant by demand pull
inflation?

wifgafe Jardfe @2

Mention two features of foreign

exchange market. {
Cavwfre et sy gb 2afiEr Some A

Name two main types of exchange rates.
R =4 4b1 e am o

What is meant by a deficit in balance of
payments?

“fRem ers wift wea & o =7

Write two causes for shift in aggregate
demand curve towards right’hand.

o1 far |

. Answer any four of the following questions :
5x4=20

o 2perTEa i coree BIRGE T e

(a)
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What are the components of aggregate
supply? Briefly explain.

AHEF e Semaeerye R wte qeE fan

( Continued )

(b)

fc)

(d)

(e)

(a)
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(5)

State the limitations of IS-LM analysis.
IS-LM Roms SReenan 3@ 34 |

Differentiate between aggregate demand
function and aggregate supply function.

AREE (39) oA wom W e (39) qemm
e WS 149 (Y6 |

Discuss the concept of multiplier as put
forward by Keynes.

CRARTH WIATHIE] BIFA YAICH] e 341 |

Distinguish between current account
and capital account.

ofere fEne W e Borea ares onda

Discuss the components of aggregate
demand.

AR (45) SR BAMCAA Sica %4 |

Discuss the structure of foreign
exchange market.

e fAfrsy T s Faoe sgamwa o4

Explain how the exchange rate is
determined and mention the factors for
exchange rate determination.

i 23 s el 30 oy W fRfew 29
fdfiast T Sy B o4
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(6)

4. Answer any four of the following questions :

10x4=40

o epazard it caeen wifer B o o

fa)

(b)

fe)

(d)

(e]
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What are IS and LM curves? Discuss
the features of IS and LM curves.

IS W® LM @4 wim @7 1S-LM @
TABIAE ST %4 |

What are the assumptions and
limitations of multiplier?

g feyan SR Muaser @2

Explain the causes of demand-pull and
cost-push inflation.

wfEsfs W Tu-gReES FEpRea IR
e =41 |

Mention the features of inflation and
how it can be controlled.

e FEeEr St W W W
i g @4, &

How is aggregate supply affected in both
short run and long run? Explain.

A WF TS @EA e G
HeIfde a7 a1 =411

( Continued )

(9)

({

17}
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(7)

Explain the effect of MPC on AD curve,
Why does aggregate demand curve slope
downward?

sube W @A ems TegenA  afes
HATEE (I TS (AT T T4 | A
wIfEw @™ wHee e oz

Explain how IS curve is derived.
IS ca famca =24 41 20 T4 940 |

Discuss the causes of excess aggregate
demand and ways to correct them.

fefie wmafie sz 3R W WE AN
T4 AAEOTZ 1B, WAL F41 |

Analyze the relationship between
inflation and unemployment.

e W fem weeR Wee 9% T
Rae 7741 1

Explain the Keynesian theory of
inflationary gap.

3% qariie F1e Tgh [ 4 |
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